R&TALS ANEREHA FAOA EiE 01
1. ROFEREFE L. (S5, A3 D208, B#5S, CRTH)

(1) a?+0b*=(a+0b)?—2ab

(2)  (a?+b?*)(c? +d?) = (ac+ bd)? + (ad — be)?

2 2 2
(3) a+1+b—|—1 cc+1

+ —atbdct ab + be + ca
a b c abc
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2. XOFAZIAE L. (SHh29r, Ak3320%, B#50, C#79)

(1) a®+b® = (a+b)®—3ab(a+b)

(2) @4yt = (aytyztem) = {@ -y + (- 22+ (- 2)%)

(3) (1+l) <1+L> (1+l>:1+a+b+c+ab+bc+ca+abc
a b c abc
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R&TAL XEREFA FAOA EfE 01 BEHESR
1. ROFEREFE L. (S5, A3 D208, B#5S, CRTH)

* S DI

@ EB - &L =0 £iANT 5.

@ EL=A, BI=A ALY TENT 5.

FHEARWIZ, BHTE2DDIERLTIY 2 P kv,

(1) a®+b*>=(a+0b)?—2ab
Fiid = a? + 2ab + b2 — 2ab
:a2+b2

) = 434

(2 (a®>+ ) (P + d?) = (ac + bd)? + (ad — be)?

A = a?c? + a?d? + b2 + b2d?
Fi = a?c® + 2abed 4+ b2 d? + a?d? — 2abed + b2c?
=a%c® + b2d? + a?d? + b*c?

1ol = 43l

Yol g
150 — 43 = 2abed — 2abed = 0

2 2 2
(3) a+1_|_b+1+c+1:a+b+c+ab+bc+ca
a b c abe

il =at+ b+l
a b c
fill=a+btetrt+L4 L
a b c
il = Al

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

ROERZFHE L. (S22, A3720%, Biks oy, C#77)

a® 4+ b% = (a +b)® — 3ab(a + b)

(1)
i34 = a® + 3a%b + 3ab® + b3 — 3a%b — 3ab?
— ag _|_ b3
Feill = 45l
(2) 2?4?22 eyt yz o) = L@ -9+ (- 2)° + (2 - 2))

Ei_—:r +y 422 —ay —yz— 2z
il = (m — 2y + P+ —2yz+ 22+ 2
l(23L‘2—|—2y2—|—2z2—23L‘y—2yz—22x)

T2
:x2+y2+227wyfyzfzx

2 2zx +2?)

Fel) = 453l

(3) <1+l) (1+l> (1+l>:1+a+b+c+ab+bc+ca+abc
a b c abc

1

Euﬂ_1+—+b+ +E+E+—+%
ESPURS T+%+—+E+ +—+b+1

73l = £l
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